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14U/92/4(ii)
No. of Questions : 100
g¥l & §SA ;100

1
Time : IE Hours Full Marks : 300

1
" ;2 que JuilE : 300

Note : (1} This question booklet contains 100 (hundred) questions in all
(30 in Section - A and 70 in Section - B). Attempt as many
questions as you can. Each question carries 3 marks. One mark
will be deducted for each incorrect answer. Zero mark will
be awarded for each unattempted question.

6 9v9-gfem d gw 100 (M) o1 ¥ (@v- o F 30 7
wus-9 # 70 )| AAHAF A @ g HE F OWEA FL
gd® o 3 (M) oimt @1 B 9% wew I # v ow
SHF FIET FEAT | TXF STIART AT F WD T SR

(2) if more than one alternative answers seem to be approximate to

the correct answer, choose the closest one.

af wemferen Aepfeass Io @& 39T ® Frepe wdia &1, @ Beean
qdl 3T T

3 P.T.O.
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0l.

03.

Section-A
HIs=—3H

P.W.D. Act, 1993 is related to :
(1} People's works department
{2} People's welfare department
(3] People with Disabilities

(4) People with disease

flo e=e dlo e, 1995 F gavyg 2
(1) Nged awd fEurda= &
(2} 9YeH AT fEurdi= §

{3) Ygw g focfagd |
(4) dge R BBdie |

National [nstitute of Mental Health and Neuro Sciences is situated at -
{1) Lucknow (2) Bhopal (3) Bangalore (4} Delhi

%msﬁ?ﬁg&ﬁcﬁﬁw%ﬁrmqﬁﬁﬁﬁaﬁuﬁ%:
(1) =g d  (2) A9« §  (3) g # 4) Rl H

The Cabinet of which statc in March 2012 decided to give a grant of
Rs. 30,000 to high school pass Muslims girls for perusing their
education and marriage ?

(1] VUttar Pradesh (2) West Bengal
{3) Andhra Pradesh (4) Dethij

%ﬁm%#ﬁmﬁm&zﬂizﬂﬁ%mgfmqweﬁ
ﬁmﬁamqéfﬁm%ﬁrﬁaﬂ,onumwaﬂzmmaﬂ%am
ot fam 2

(1) =T 9297 (2) afysm s (3) AT U3 (4) Reeht
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Who wrote the famous book - 'We the people' ?

{1) T.N. Kaul (2} J.R.D. Tata

{3) Khushwant Singh (4) Nani Palkhivala

“dt T Qg THE HAEY T (oY Rrdt oft 7

(1) o wqo BT 7 (2) Sto ¥¥o o erer 3
(3) < R F (4) T gETEEET |

05. The theme of the 11™ global monitoring report 2013-14 of UNESCO

was
(1} Teaching and Learning : Achieving quality for all
(2) World Peace : Education and value

(3} Environmental Pollution

(4) Women Empowerment and Education

gAenl B Ared e Aftefen fdd 2013-14 @ g9 e
(1) AT ooz @ ol s eR et

2) o= 9 : Bmn o &y

(3) A=A diEge™

(4) FHA FHfaH~< QU8 TSy

Who is the present director of NCERT ?
(1) Prof. J.S. Rajput

(2} Prof. Parvin Kiran Sinclair

(3) Prof. A, K. Sharma

(4} Prof. Krishna Kumar

gdaE § i@ .o d. @ Ry a9 8 7
(1) . §.0d. [gd (2) . wd= R Reeeat
(3 =M. w. & gl 4) =. FT=T FAR

5 P.T.O.
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07. NEUPA was established in -
{1} 1976 (2) 1986 (3} 1996 (4) 2006

=T I g% §
(1) 1976 # {2) 1986"% (3] 1996H (4) 2006 H

08. NIOS is known as :
I1) National Institute of Open Schooling
(2) National Institute of Open School
(3] National Institute of Overseas Schooling

(4) National Institute of Open Scholars

T A A oW WAy oy
(1) 79TeT Fedicge offs 0 wpfer
{2) %W:Tﬁgggaﬂtﬁaﬁqﬁﬁw

(3) ﬁ&mﬁfs@g_ﬁgaﬂtﬁaﬁwﬁ%
(4) A FEege ol o w=efe

09. EDUSAT satellite was launched on
(1) 20* September, 2003 (2) 20* September, 2004
(3} 20% September, 2005 (#) 20*™ September, 2006

23 g ud u A aFr der

(1) 20 fge=w, 2003 & f5ar mar o
(2} 20 fa=T, 2004 = fasgr Ty o
(3) 20 fHa=T, 2005 # frar oy o7
(4) 20 =Y, 2006 Y fFar war o
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10. Thefullformof NTSE s :

11,

12,

13,

(1] National Technician Search Education
(2] National Teacher Search Examination
(3] National Talent Search Examination

{4) National Talent Selection Examination

AT S A QAN R

(1) Aeier 2aiifirersT @ oo
(2) e S97 9" oA
(3) g ST T e
(4) AT = T SR

3,10, 101, 7
{1) 100101 {2) 10201 {3) 10202 (4) 11012
If 5 is the brother of N, the sister of N is M, the brother of P is J and

the daughter of S is P then who is the uncle of J ?
(1) J (2) S (3) N {4 ™

MATFALE, TR WAAY, TH A TR aw A G
q 8 o W T g7

(1) = 2) 4 3) T (4) #H
Child : Family ::

(1} Flower : Bunch (2} Bird : Set

(3) Calf: Herd (4} Deer : Gang

T P.T.O.
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14,

15,

16.

17.

18,

=7 afET

(1) G : T 2) Ffigar : e

(3) IFBTT : YOS (4) W : T

Which word does NOT belong with the others ?

(1) leopard (2) Jaguar (3) elephant {4] lion
Fres & @ a1 &1 e o9 | wafaa @t & 7

(1) en (2) dgam (3) erefl (4) MW

Which word does NOT belong with the others ?
(1) guitar (2] flute (3) wviolin (4) sitar

= 9 & 39 o @ aafrag a8f & 7
() Prerx (2) srgd (3) amafe (4) foar

FAG, GAF, HAI, 1AH,
(1) JAK (2) HAL (3) HAK {4] JAI

(1) A QT H {2) TgUEd (3) THOT R (4) F @ omd

Life is related to Death in the same way as Hope is related to :

{1) B8ad {2) Despair (3) Pain (4) Cry

W H wEY 7g 8 8 o mER omen d@efag 2o

(1) 3@ & (2) Faem & (3) =2 q 4) Fream &
Mind : Body ::

{1) Water: Air (2) CPU: Hard Disk

(3) Ship: Oil (4) Software : Computer
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- 20.

21.
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H ;14T
(1) 9= : & (2) @y : wEfaws
(3) e : aw (4) VIR @ Frgey

Which number would replace question mark in the series

7,12, 19,739

I5TaTE® F WY 9 HFH F9qET
(1) 29 (2) 28 (3) 26 (4) 24

Secretly is to openly as silently is to :

{1) scarcely (2) impolitely

(3) noisily (4) quietly

A Mg gaem & o ¥ 39 faraar -

(1) 3hwer & R 2 (2) oifdrear & o &
(3) Zels & R B (4) e & fad &

In order to modify the undesirable behaviour of a student the most
effective method is :

(1) To find out the reasons for the undesirable behaviour and pro-
vide remedies

{2) To bring it to rly: notice of parents
{3) To punish the student
(4} To ignore it

9 P.T.O.
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22,

23.

BEl & oaifda HEER 3 dada $ mw 7 wey gwaeh By 2

(1} aﬁi&am‘m%wzﬁrwwaﬂmwm
Tl

(2) sif¥rHmEent = giag s
(3} BE @ Ivg B
{4) JITFH IULT FHEAT

At authoritarian level teaching is :

1) Teacher centered , (2) Child- centered
{3] Headmaster centered (4) Experience based
Prge! @ & fawor

(1) e Bfag @ar 2 (2} O Bfsd e &
(3) WU BfEA SN B (4) orpwE s B

What type of teacher would you like to be ?

(1} A teacher who teaches the wholc curriculurm

(2) A teacher who helps his students in learning

(3] Teacher who is a friend, philosopher and guide of his students

(4] A teacher who maintains good discipline.

T PR 9T 0 S So AT SR ?

(1) oA S 6 QR wreEwA @ ggmr @

{2} oremE S AT X Bt 2% weEer e
(3] mwﬁmﬁ’fmﬁa,mﬁmﬁmﬁ%
(3] STATIF ST arewT Srgane @ ¥

10
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24. You are teaching a topic and a student asks a question unrelated to

the topic. What will you do ?

(1)
(2)
(3)
(4)

You will permit him to ask unrelated question
You will not permit him for this
You will consider him as undisciplined and punish him

You will answer the question after the class

mwﬁﬁmqﬁ@%aﬁtmﬁmmﬁaﬂaﬁmm
FA B | AT T BT 7 |

(1)
(2}
(3)
(4)

oMY 8 FHEfug 9vH ged @ gk 3
oY I/ rEaEtEd 9 gBR & ol Ad 3
AT IQ gEh orgEia Wt &

ST FHEHIY=T FEHR I 2

[ a student gives wrong answer to your question you will

(1)
(2)
(3)
(%)

Scold him for not having learnt his lesson properly
Explain why his answer is wrong
Ignore the wrong answer

Ask another student to answer and ignore him

af% uFE BH HUH U & THd I odT & ¥ o7y

(1)
{2

13)

39 391 U & Sh A 7 ggd & ford st
g T $H 6 IgHr I |t o &
g 3¢ ¥ 9= @t 3

(4) Frell gE B |/ IET B HET T Iuh S B

1 1 'I T' n'
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26, If 1 will become a teacher my most preferred activity will be to

27.

(1) Give important questions to students before examination
{2) Dictate notes in the class
(3] Clear their difficulties regarding subject-matter

(4) Make student disciplined

3% T AN A AW A A qw g e Fmd Sy
(1) Tier A v oE B gt 9w s@r A

(2) T H Agq T

(3) ﬁwaﬁﬁﬂwﬁammﬁﬁgm

(4) & & e T

For becoming a good teacher, the most important quality of a person
is :

(1) Genuine interest in teaching

(2} Knowledge of his subject

[3) Ability to control students

{4) Ability of good expression
%mmaﬁ%%ﬁ,wﬁﬁwﬁm@ﬁw
-

(1) e F sfaa sfy &

(2) Owg & s &

(3) Bt St FEfa @ & drgar &

(4) el sl 3 drgar &

12
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29,
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A teacher should plan his lesson before he goes to his class, because
it helps him to :

(1) Satisfy parents
(2) Create happiness in the classroom
{3) Achieve curriculum goals

(4) Assign home work and classroom work

Tsh HEUH & HAT § A9 § I & 3799 9IS & Qe 991 &=
aifsd i ge IO He™dar ST o

(1) If¥H=EDl & Fgye H3 J
(2) &M H AR I B H
(3) YIZgHH & TG I "iiq T
(4) T TF FHENHE HSE e o

"Every school ! subject has a disciplinary value,” it means, that :
(1} It brings discipline among students

(2} It teaches certain habits and qualities to train the minds of
students

-[3] Every subject is the outcome of the work of disciplined thinkers

(4} It requires disciplined methods of teaching

‘o faenedl Bem & 99 oF AgArERISE e BT B, gEe
A 2 o

(1} @ BEl § AJWE A6 2

(2) =® BEl & ARa=s H Y ARGt o ol & gfEfie sear @
(3) T&% Ay sriia sl S s & FaET 8

@) = ogwida R BAfy A savama kit ¥

13 P.T.O.



14U/92/4{ii)

30. Indian education put emphasis upon :
(1) The tradition of Indian society
(2) To give Honour to elders & teachers

{3) Cultivation of values
{4} All of the above

AR ¥ g &= ©

(1} AT T # qoq ge
2) HAEE UF g2t F T g7
(3) AT Hepla & gt gx
{(4) I9TEFRT g uv

14



31.

33.

33.

14U/92/4(il)

Bectaion-B

quvE-q

KAP stands for :

(1) Knowledge, Attitude, Practices
{2) Knowledge, Adaptation, Process
{3] Knowledge, Adoption, Practices
(4) Knowledge, Adoption, Progress

Fo Qo flo & awad B :
(1) s, odege, SfRRdw (2) S, TET9A, OEd
(3) Hider, s, AfRRds (4) e, geTEE, $HEE

Following is a traditional medium of communication :
(1} Television (2) Poster

(3) Redic (4) Pu_ppetr_*,r
Fr=fofaa & us IR9Re @9 @& argg R

(1) ffem (2) 9RET

(3) W (4) FSTEN

An Mtcgratcd'schcme for women's empowei-mcnt is :
(1) Annpurna {2) Swayam siddha
(3) NREP (4} AMP
Hidemail & avfEFaET & B oHg Qe B o
(1) S~gen (2) @d o=

(3) To ARo Fo o (4) Qo @Ho dlo

15 P.T.O,
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34.

3s.

36.

37.

Eleventh Five year plan period is ;

{1) 2002 to 2007 (2) 1998 to 2002
{(3) 2007 to 2012 (4) 2012 to 2017
TqREd! daadtg giorn = s Prtafeg o

(1) 20029 2007 (2) 1998 ¥ 2002
(3) 2007 € 2012 (4) 20129 2017

Extension education is :

{1} Formal education : (2] Non formal education
{3) School education (4) College education
g farew 2

(1} ofaaiRs famn (2) -hgenfis famn

(3) g famm (4) i fAren

The primary colours are :

{11 Red, Green and Blue (2) Red, Yellow and Blue
(3] Orange, Green and Yellow  (4) Purple, Orange and Green
arfis o1 B .

(1) =, 83 g e (2) o=, dm g S
(3) -, B oa dwm (4) SR, TR 7 Fm

Stainless steel contains :

(1) 18 parts of chromium and 8 parts of nickel
{2) 18 parts of nicke] and 8 parts of chromiurm
(3} 3 parts of titanium and 18 parts of chromium
(4) 8 parts of nickel and 18 parts of titanium

16
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39,

14U/92/4{ii}

I =i ® g ¥

(1) 18 w1 WA o 8w e
(2) 18 5 i ofR 8w HiftEw
(3) 89T TEetTaw T 18 9T HEH
(4) 8 WP ffdha ofX 18 WM e

The principal of design, which produces impression of unity, is called:

{l)] Harmony {2} Proportion

{3} Balance (4) Rhythem

fEomgs = fasma, I T @ UWE 39 Il &, HET B o
(1) sTgETm (2) ST

(3) wga (4) <=

The SGA infant is :

{1} Full term but underweight

(2) Premature

(3) Either full term or premature

{4) Any infant who weight less than & pounds

qHosMloto firg &ar 2 ¢

(1) get TwiEfd By FErR

(2) =R

(3) 9ot TwiEY a1 Re=T

(4) #F 69 A HA WL I Y

For children's play clothes it is better to assume :
(1) Comfort (2) Large pockets
[3) Freedom of movement (4) Absorbency

17 P.T.O.
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41.

42,

43.

Tl % Qo A g ¥ i o @9 o ©

(1) &ATTH 2) =9 A9

(3) WA it w=d=Ear (4) arasyefEr

Fabric finishes effective against bacteria are called :

(1) <Calendaring (2) Moth proofing

{3] Mildew proofing {4) Antiseptic

T uREes o §RI & fes gwEerd 2o

(1) Hesfar (2) ®rT gfeT

(3) Pegy gfen (4) T

Following is a cellulosic fibre -

(1) Wool {21  Silk (3) Cotton (4) Nylon
Fr=fofra & o S gaq n &

(1) FA (2) <=M (3) =9rE (4) wTaE
Following is a natural continuous filament fibre :

(1} Wool 2] Silk (3) Rayon (#) Cotton
Fr=ifeifad § oF ogpfes waa fearie Yo @ .

(1) ¥ (2) Tam (3) = (4) I

Flannel refers to -

(1) Napped fabric {2} Knitted fabric

{3) Non woven labric (4]  Water repellant fabric
AT & arad 2

(1) 9% T (2) 1 gonw FTEw

(3) faTg g (4) I I ge

18



45,

47.

48.

14U /92 4{li)

Gluten is found in

(1} Wheat (2} Rice (3) Milk (4] Corn

TR qEn S ®

(1) T H (2) =wam#® (3 Ty H (4) wEE H
. Colostrum is needed by the infant to provide :

(1) Extra protein (2) Antibodies

(3) Extralactose {4) Vitamin C

FHieitegy #H sTaygE fag & i Feafafag & R ek ©
(1) ARfEa OFF =9 &1 5 R

(2) TR wEE TR B BRI

(3) ol de=e = & & g

4y FefE § swmE sE B R

Ascorbic acid plays a major role in the formation of which protein ?
(1) Histidine (2) Keratin (3) Collagen {4) Mucus

RS oS 9 @ oem & fmfer & aEw oftem Framr 8 °
(1) RREE= 2) i (3} IS 4) =aHd

All are good sources of Vitamin A except the following :
(1} Egg yolks

(2) Potatocs

(3) Dark green and deep ycllow vegetables

(4) Beef liver

Pymfafgd & sifafteg osh Refm ¢ 3 o8 |9 & ¢
{1) 3w & SHEl _ (2) SRy
(3) meR & 9 9F I A wEEE (4) "H B AT

19 P.T.O.
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49. Which of the following is different from CaCO,?
(1} Limestone (2} Marble (3) Calcite {41 Gypsum

frrafafaa & @ caCco, 4 B 87
(1) TET (2} WEHT  (3) PoEEe (4) PAqER

50. Which of the following elements is most metallic?

(1) Fluocrine (2] Chlorine (3) Bromine (4} lodine
Frfafiaa aet 3 fiF q989 sa=T gy 37
(1) o= (2) FEHRE (3) "@E (4} AEES

51. Which une of the following compounds does not exist?

Fr=foafaa ARt o fFe v a1 o afae a8 & 7
(1) NCI, (2) PCI, (3) AsCl (4) SbCl

52. The metal that can not displace hydrogen from dil. H, 30, is :
ggsﬁﬁsdil,ﬁjsqﬁ eEE H feafa 98 % w9 2, 9

(1) Zn {2} Ag (3) Al (4] Fe

@Wh:ch of the fulluwmg steps in the given photochemical reaction:
CH, (g) + C! [g]l_> CH, Cl (g) + HCI (g)
is the chain termmatmg step :

ﬁmﬁf@aqﬂﬂﬁamwwmmm1mmﬁmaﬁrﬁm:
CH, (g) + CL{g) %, CH, Cl(g) + HCl (g) %1 *j@ell &3 =7 qF 3 -

(1) Cl, - Cl +Cl. {2) CH, +Cl » ¢H, + HCl

(3) CH, + CL,»CH,Cl + - (4} CH, + "Cl»CH,CI

20



4.

55.

56.

57.

14U/92/ 4{ii)

Which of the dispersion method is used to prepare tooth-paste?

(1) Electro- dispersion (2} Peptization

(3} Coagulation (4} Mechanical dispersion
HE- e fafyr @ s & Tuiee (da-999) s e 27
(1) FEEgdE i@ (2) IR

(3) (4) @ afEm

If ,,U%* is assumed to decay one a-particle and two J -particles, the
possible product of decay is :

ST W AT 6 US & T o -F©T Q@9 & B-H00 a faeei 8
2, @ &g ZT0 FeAfad SediE e

{1] “le [2} 1238 [3} MUZED {4] wuzaa

92

In the reaction: ,Be® + projectile » Be® + n', the projectile 1s

(1} neutron (2) a- particle

(3) B- particle (4) 7-rays

T AfufFa & : Be® + H8E - Be® +n!, WH ¥

(1) = (2) a- T

(3) PB- HT (4) v- F=&FERTeT
Hydreogen bonding is not present in :

(1) Hydrogen fluoride (2) Hydrogen sulphide
(3) Ethyl alcohol {4) Acetic acid

T SIS SaT B JURURY e @kt & -

(1) FEHOT FAES (2) TEISTH FEEES
(3) ufyw TenEle (4} HIR® A (FeaTemT)

21 P.T.O.
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58.

59.

61.

62.

The electronic configuration of Cu? ion (Atomic number of Cu=29) is;
Cu"ﬂﬁ’fﬁmﬁm%(cuﬂmm=ﬂﬁ)
(1) 1s* 28%2p° 3523p5 340 4g!

(2) 1s? 2822p® 3s23p® 3d® 4s?

(3) 1s? 2s%2p® 3s23p5 3d!0 4ge

(4) 1s* 2s?2p% 3s23p% 3d? 4e°

The hybridization of sulpher in SF, molecule is :

SF, 9T } d°hy B GHAT B

(1) sp? (2) spd (3) sp%d? (4 sp*

Which of the following contains both covalent and ionic bonds?

ﬁw%ﬁ@aﬂgaﬁﬂﬁmﬁﬁgaﬁwmﬂﬁ-ﬁiﬂmaﬁm
P T 9T T § 7

(1) CClI, (2} CaCl, (31 BCl, {4} NH.Ci
According to the Aufbau principle, the orbital having the lowest energy
i5:

Wﬁ%@ﬁ%w,mmmwﬁwaqm%:
(1) 3d (2) 4s (3) 4p (4) 4d

The total number of orbitals in g shell having principal quantum
nummber n is :

%ngﬁqma@nwﬂ%zﬁwﬂmﬁuﬁ

{1) 2n (2) 2n? (3) n= (4) n+1

22
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63. " It is not possible to determine precisely and simultancously both
the position and momentum of a microscopic particle." It is the

principle of :
(1} Heisenbreg (2) Hund
(31 De-Broglie {4) Pauli

‘T Y A R e gew w5 & 'l 93 qan Rafy Ot
H AY-H1Y \elp Faor a2 g8 Beera &

(1) TS (2) §°s @&l
(3) Si-d & (4) UT3elt e

64. The temperature at which the volume of the gas is zero, is ?

o AraEE e 9 Bl ft e o ot R e R, 3w
(1) o (2) 273K  (3) oF (9] -273%

@ Temperature below which the gas does not cbey ideal gas Laws is ;

(1) Critical temperature (2) Reduced temperature

(3) Inversion temperature {4}/303!]3 temperature
Hnngﬂi%ﬁﬁﬁ=ﬁ€iﬁ?fﬂ%éﬁﬁramm&?ﬂmi&;ﬁnnﬁ‘aﬂcnaﬂ'airauar
qae g 7

(1) =S T (2) FARNT draEE

{3) HbH dATIHT (4) &R aaEE

66. A gas behaves most like an ideal gas under conditions of :
{1} Low pressure and low temperature
(2) Low pressure and high temperature
(3) High pressure and low temperature
{4) High pressure and high temperature

23 PT.O,
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@ e Fea ufifeafdt & o omest g & ave sEER Far ¥
(1} = 3™ gaq B ame (2) =1 a9 Ey o= aree
(3) S= I oy PP a9EM (4) 9O @ gay I oM

&7. Nematocysts are found in ;

(1) 'Porifera’ (2) 'Coelentrata’
(3] 'Nematodes' (4) 'Annelida’
ZxifEEn P ® o ondh B
(1} “grimsar (2) ‘Hromger
3) FEEY (4) ‘cFRfeT”
68. The genetic material of a virus is
(1] 'DNA’ (2) 'RNA'
(3) Either 'DNA' or 'RNA° (4) 'Both DNA' and 'RNA'

TERY # IngEifiee aurerE fe }

(1) “Fle g0 g’

(2) ‘Mo TFo To’

(3] ‘Sto wHo wo’ 3@l “Bo WHe wo’
(4) ‘Sle o To” T ‘a0 e To AF}

69. lchthyophis is :

(1] a fish (2) an amphibian
(3] a reptile (4) a mammal
sFaee e &

(1) % =oet (2) TH Iy
3) @k aigy (4) TF W
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leeping sickness is caused by :
(1}~ Trypanosoma gambiense (2) Trypanosoma rangeli

Tl

72.

(3) Trypanosema brucet (4) Trypanosoma Cruzi
fagm O B & @y okw 8

(1) fRoTiEEr ARETy (2) fRaamr I
(3) RO g (4) Fea=HrerT Fol
Kalazar is transmitted by :

(11 'Tse Tse fly’ (2) 'Dragon fly’

{3) 'Sand fly’ {4} ‘Fruit fly’

FrAenT B @ g1 gEia e e

(1) ‘dodflo wiTg’ (2) ‘¥ g

(3 ‘&= TR’ (4) ‘e R

Archeopteryx, a transitional fossil between birds and reptiles was
discovered from the rocks of

(1) 'Jurassic’ period (2) ‘'Archeozoic' era
{3) 'Cretaceous’ period (4) ‘'Triassic' period

mtﬁﬁﬁ%ﬁm?,qaﬁqﬁﬂﬂqqaﬁ%ﬁamruiﬁqﬁa?ﬁaﬁamﬂ%
A Pt g A TR A Srafye e T Al

(1} ‘FRi® @ (2] “HARREISHES B
3} ‘Freflay’ & (4) ‘TERATHE TR
73. Commercial bath sponge is cleaned :
{1} 'Euspongia’ (2) 'Sponglla’
(3) 'Euplectella’ (4] 'Cliona’
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T4.

75,

Fre & 9% S & AT T8/ & wo ara Sar &
{1 ‘sgenf~mr (2] ‘wgtforar
(3) ‘sgEe 4) ‘s=fal=T

Which one of the following is the function of glucagon hormone?

(1) Increases uptake of glucose and amino acids by cells

(2] Stimulates glycogenolysis and release of glucose from liver cells
(3) Decreases blood glucose level

{4) Increases glycogenesis

Frafafad § & -1 o qeris s w5 27

(1) aﬁﬁmm@aaﬂtmmwmm

{2) Wﬁmﬂﬁaﬁﬁamﬂm%ﬁ@mﬂmﬂﬁ
BT Frdert s
(3) BT yT WX RN g

(4) TERTATEE @ FgEn

Which one of the following hormones of the pituitary glane is a direct
acting hormone that is without interaction of other hormone?

(1) T.S.H. {2) A.C.T.H. (3) LMH. (4) M.S.H.

(1) €o UHo Tyo (2) To Hlo o uyo
(3] THo THo (4) THo THo uHo
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76. Wings of insects and wings of birds are the examples of ;

(1) ‘Analogy' (2) 'Homology'
(3) 'Serology’ (4) 'Mimicry'
Bt & dw awn oREr & 9@ e B saeeer ©
(1} ‘e (2) ‘BrTeri
(3) e (4) “TorfeERy

@ The process of genetic mutation is :
(M~ Reversible (2) Irreversible
[3) Partially reversible (4) Continuous
HATFATAE Jeaftacds afpar &t & -
(1} it (2} S1-aEcd
(3) ity witaw (4) =R

78. Which of the following does not belong to Phylum 'Coelentrata’ ?

(1) ‘Sea pen’ (2) 'Sea feather
(3] 'Sea cucumber (4) 'Sea fan'
Pt # & &9 “dmga” dg & afwfa 6 & ?
(1) & ¥ (2) @ S
@) & g @) | &

79. In which one of the following groups all animals are hermaphrodite ?
(1) Hydra, Ascaris, pheretima (2) Hydra, Homosapiens, Leech
{3) Tapeworm, Toad, Starfish (4) Hydra, Leech, Tapeworm

et 7 @ oo o oqE & @k oot awg Rl & 7

(1) ®rEg, ce&hRa, dRfem (2) ®EET, ErdRTaE, o
(@) Quad, aE, WRIAN (4) wnggT, s, Jget
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B80. The most common larva forms met within crustacea i1s Knowmn as.

&

82.

{1] ‘Miracidium’ larva (2] 'Nauplius' larva
(3) 'Bipinnaria’ larva (4) 'Trochophore' larva

méﬁmﬂﬂaﬁﬂmmméaﬁmmmmaﬁﬁﬂm
G-

(1) ‘Frodfzas fEws (2} T’ e

(3) ‘sfmfEr Eas (4) ‘TR fEas

Which one the following scientist pair had proposed fluid mosaic model
of plasma membrane?

(1) Gorter and Grendel {Eﬁ/Singcr and Nicolson

{3) Cereijido and Rotunno (4) Sleigh and Jennings

Where the mixture of enzymes required for oxidation of Pyruvate and
fatty acids and for citric acid cycle, is contained in mitochondrig ?

(1) In the matrix

(2) In between intern membranes
(3} All around mitochondria

(4) None of above
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The lipid bilayer of many cell membranes is not composed of
phosphalipids exclusively, if often contains :

(1) Cholesterol and Glycolipids
(2) Cholesterol and Glycoproteins

(3) Cholesterol and Mucopolysaccharides
{(4) Cholesterol and Glycogen

%% B waed N s TR P EEERRE & T a0
aﬁ,#m-ﬂﬁ‘ﬂqﬁﬁﬁ%:

(1) e aul SRsaEE
(2) THITESTE T TR
(3) HIRTEETA TUT YHRNAADUTSH
(4) DIATEIA YT IASRIAT

Cypsella fruits are found in :

(1) Sunflower (2) Citrus
(3} Tulsi (4] Mustard
e & fed 9o S 2 7

(1) FEget (2) =g

{3) guH (4) wXF
Monothecous anther is found :

{1} Liliaceae (2) Malvaceae
(3] Solanaceae {4) Poaceae
uF FHS) gy Brad g/ ot 7 7

(1) T (2) wHead
(3) A (4)
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86.

87.

88.

89.

Pneumatophores are found in :

(1) Riccia (2)
(3) Trapa (4)
FaAed s aif ot B 7

{1) Rfagar (2)
3) Jur (4)

Rhizophora

Selaginela

THAEIRT
Jeforder

How many nucleotides are found in a codon ?

OF FreH F Bl gaidems ad B

1y 2 2) 3 (3)

Anti cancerous drug is extracted from -

{1) Papaver (2}
(3} Asparagus (4)

4

Taxus
Ephedra

daY Yz Fred Pt ot R 7

(1) gy (2)
(3) ey (4)
Bog moss is called is :

(1) Sphagnum {2)
(3} Anthoceros (4)

g1 ArST FEeTET T
(1) ®EByy (2)
(3) g=rE (4)

30
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Porella

Morchantia

gieT
T i~aar
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91.

92.

93.

14U/ 92/ 4ii)

Bengal famine was due to :

(1} Helminthosporium oryzae
(2) Pyricularia oryzae

(3) Xanthomonas oryzae

{4) Alternaria solant

M W AH RS HIT AT o ?
(1) BaPrRgiRTT sftasn  (2) fARgofRar o

(3) AT S (@) SRR
Which of the following is Known as suicidal bag of the cell ?
{1) Vacuoles (2) Lysosomes

(3] Plastids (4) Ribosomes

fr & & B9 Fifaee stearl & seawT B ¢

(1) TaEf=y (2) FEWEH

(3) witeEd (4) TASEH

'‘Agar’ is obtained from :

(1) Bacteria (2) Blue green algae
(3) Red algae (4) Green algae
‘. Fed i g B 7

(1) SiErg (2) e sfta dam
(3) o AT 4) =it fa=
Cuscuta is a :

(1) Parasite (2) Saprophyte

(3} Epiphyte (4) Halophyte

FHEReT F & 7

(1) gT=hd (2) Fearaeiet

(3) frarEg (4) FETNE
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94,

95.

96.

97.

Cortical vascular bundles one found in :

(1) Nyctonthes stem (2) Bignonia stem
(3) Strychnos stem {4) Boerhauig stem
wfdhd d9eq Tvsw Rrad qu oy B 7

(1) A=y aar 2) A aar
3y ReFwe aar (4) aRERYr FAr
Aloe belongs to the family :

(1) Liliaceae (2) Malvaceae

(3] Rosaceae (4) Fabaceae
g fhe Jm o & 7

(1) Ferfrmdt (2) HrFEl

(3) T FH (4) I

Which is an auxin ?

(1) ATP (2) Puruvic acid
{3} Zeatin (4) Indole Acetic Acid
P & |/ ‘anfsy e 2 7

(1) Uadtodio (2) Nefas o
(3) femfes (4] 919 wdlRs s
Cotton belongs to the family :

(1} Poaceae (2) Brassicaceae
(3) Malivaceae (4) Liliaceae

HUH T For a1 2 ?

(1) v (2) I

(@) e (4) Frfercest
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98. Chilgoza is obtained from :

(1) Cycas (2) Pinus
(3) Ephedra {4) Zamia
FerTeT s s &@m & 7
(1) TFsT @ 2) =79 &
3) $%3T & @) ofEr @
99, Prothallus of fern is :
{1} Kidney-shaped (2} Ciub-shaped
(3) Heart-shaped (4} Flask-shaped
B & Mday B ST & eier & 7
(1) TFRIHR (2) = F AL HI
(3) FIAHIT (4) TSR T HTHIT H

100.Kreb cycle takes place in :

(1) Ribeosomes (2) Chloroplast

(3) Mitochondria (4) Endoplasmic Reticulum
By mH fpEd ofeq sar & 7

(1) T (2) BRE s

(3) HESEAT (4) Eronfeaa i
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ROUGH WORK
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10,

1t.

12.
13.
14.

sreataay & fem fadw
(¥ Q@®T & FaW ATV G T qAT Jo0-9% & T gt o
e AeAt- sl wer-onyz 47 7 f )
T T e & 10 fie % o 8 2 @ R v # it 7e e ¥ el
o gt A6 21 Y N T W O SN A e - e Sl 3 e
T ® T e s F1 HI
i wast ¥ forerey v waer-q¥ & afvfre, 0 W W SR K g w9
e R of
w7- 0% FevT & frar wan 3R 7 ot i o 7 o fae w1 gE 3w T e W
Faer INT-9F w7 N qewET fear ardmi
FE HHAH T S-TT F FAS T HEC-YS | 1} Fuifs wm = )
INT-97 & FEW g T 47 @ 39 apwEwE it o el mar ] G g Wt
T v &1 wal- el snavaw § anl wya-giider & et 4T ® T 3w o
v e
Flo gHo Mo UX W J{muIe Hewl, NSAJae WA @ 6 WEAT (WT wif w) mv
FIGIRET AT SEE AT Ao THo FTo ¥ FWEwT FH} wfAEw ¥ Fuftra &7 sywly
i if 4
7wy wfafial ¥ wiy of aftaeT w@ frigs g g gy aEd S=w a1 S
T T FWW FET W2
we- gfET ¥ 7eF 997 & a7 d5fw 3 52 e ¥ mw ayT & dwieew 3 & g
FIE? IT-0F F TRERT Gy F @ 22 74 g9 B F90-99 & A7 §w W R m
vt & sgar dr @ w1
TeT Y9 & IW & (o0 Fod 0F @ g9 ® e $ F ¥ s gat & mgr w0
W HEA TH I H IO WA T T8 I T A T
e & s uwm w wnt g Afwe aov ager ) W gwar 1 9 I fEd wvT w5 W T
7o & and 8, Mt WAty oy & "R AR e Ae get s et oy & de weE er g
F% 38 I
™ & & oy 5y-gfas & [aye & o aen 7o A S-yfir & aifm e
1 74T R
qleT & IV F77 A UX AT IAT-0F GO WA B SH 97 2
e T @ F T Yler WA § as 9 i oAt s g
afz i snadl wlen & sfad TA & S 8, o 9 favafeores g it
& T/, WO gmeh



